
CBCS/B.A.Alons./3 rd Sem./Sanskrit/SANACOR07T/2019

ffi&'ri  i'6a Qaur,?q

WEST BHNGAL STATE UNIVERSITY
B.A. Honours 3rd Semester Examination, 2019

SANACOR07T-SANSREIT (CC7)

INDIAN SOCIAL INSTITUTIONS AND POLITY

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

ui.        erchfaiaa¥ fflqaE qScofiq,Hirha

q5-fan:

tigiv €qilli<^irciu]T F apfr ffiiFT I         5xi = 5
(ai) aFath.<ililuictiqtffl,  (H) a+i<<ilcitiiiiji=; an FTitT: I

en`IrtlrtldEgfty qach:
3Tan

tiqu  €qiili<^irciitii q arfu: I

in: iQTTife farfu €rfu q givii
(a)  qfa: ffl Ethsed €riqririqriii6i I

€ffl <ic{ilia31ul irfe €Tfaarm ii

2.         ch\itiit±i6:i 5Tts qae E¥ Fen:  giv  €ciii"€ir?i`+il  q fflrfu: I

(q5)  ch im of:  7  HttlTaciiqi.  €Tfa  rfu tT8TUITf} rfu  7
-     (a)  uialciatqtl.rediui: 3iiiiiiTtrdqrd rfu nd:  urauir¢tli:  7 a I a 7

(Tr) fry ffi7Tf} 7 ffi I rfu ?
(F)  fineFT tfa ffith  7  Ii],<il€di.t+I:  rty  €\cnicni`t`{+I  fflTT giv I

(5)  3TfRE Eta ap: qtma{:  7 3]ffl 3]iff-chuqlti: fry I

@j  ch  TTTT  't;i:'  7  '3Ted'  a  fat  7

(u)  tcii6iqi¢u¥iRd: tfa faffl 7 3]a 5RI rfu ffi nd 7

3.         erchFaeHts Hack:
tF-fin:

rty -€qiilitirciiqi-F RTrfu: I
(iF) chHtiiid@dittlit. TJranife rfuTTti 5eTfflffi try I
(a)   g,gq,<il€ai¢+i  <rjl!i:zi<ii  qe7T  fafin  aan  Hgqte7TTqfflT I

2x5 -10

10xl  -10
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4.          STU:  nd:  Htl*\edtflt\q'ap. qarfe: ds: tiiap  €q+,,,{^„hcHuj,  q illdr: I            5xi = 5

(tF)  rdsRI  t]nlHi<i^i8ifa iTma:  gtT: I

i3i5 a=RI Tan:  qTth wi 3TGTTqFT il

tH>  um9cq7qT a wh: wh qrisfa FTI
ed rfu wi TgivTtry ii

3Trm

3Tei`ii^tlrtla5 qstt9t]q,H 3Trfha fan nd ~

(a5) iiirm:  ,  (a) g5mgfngFT  ,  (TT) `{i..iT.crd=Ti I

Tr-fin:

5.       qaife: Hat: rfu: I

(tF)  .i],<il€ai],<ii< iqRI  €di¢c`ila: RE fatty I

(a)  TTTffaijqma  <i+ziiti €:\{+1  iqth qutry I

Fife  raqq8uHirha titan lq-qiii<irdcq-I I fan ed I

-

5xl  -5

10xl  -10

5x2 -10

(q5) faileT:  ,  (q) qRqq  ,  (try tinan  ,  (q) +iiq,+tirtiitr I

Stan

STU:  qedB edrfu rfe  E±  !i<i{ricri<9`±jqj  tiiap  €ciii.i{ii€itzlT  I  FTaqT I          5x2 = io

(tF)  3FTHifflth €Tffi Fchsefa ffiTFT I

<l+3+Iiiq.Iid::  ch  qF:  +ra:I,`Hcllt;ftl: 11

(H)  whsR  TllclHTtlqui  q5tH  giv  agiv: I

qEdi in dr i<tiiu-I faeii

o enft€ rfe tin qafmHqi€uiH`i
tffi          c            i t]iw  a?¢lql ll

T-X-

-


